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Geosynthetics B
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‘90/R0:46.5/R,d:46.5 DIN 4084-100 Beispiel 3 0.67
Geog 541:0.90/R0:46.5/R,d:46.5 Reibungsabminderungen durch Geosynthetics beriicksichtigt.
Ggos"4/u:0.90/R0:46.5/R,d:46.5 Ungiinstigster Gleitkreis:
+ 8.00 ; 65 3/:0.90/R0:46 5/R,d:46.5 Hmax = 0.98
{ Geos 2/p:0.90/R0:46.5/R,d:46.5/F:15.1 Xm=1.90m ym=13.26m 0.63
0 1 Geos 1/:0.90/R0:46.5/R d:46.5/F:465 | R=1624m
g Teilsicherheiten:
-v(9) =125
-y(c)=1.25 060
g = -y(c)) =1.25
L | = - y(Wichten) = 1.00
—L ] | | L= - y(Standige Einw.) = 1.00
o — - y(Veranderliche Einw.) = 1.30
- y(Herausziehen) = 1.4000 057
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